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Rewriting Equations and Formulas Li
1.4a

An equation that has two or more variables is called a literal equation. To rewrite a literal equation, solve
for one variable in terms of the other variable(s).

A formula shows how one variable is related to one or more other variables. A formula is a type of literal

equation. LS
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c. Solve the literal equation for y. d. Solve the literal equation for x.
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Example 2: l’
a. The formula for the surface area S of a rectangular prism is 2lw + Zlh + 2wh. Solve the

formula for the length [ l S
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b. You own a rectangular lot'that is 500 feet deep. It has an area of 100,000£t2. To pay for a new
water system, you are assessed $5.50 per foot of lot frontage.
a. Find the frontage of your lot.
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b. How gy_g_h_ are you assessed for the new water system?
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c. Atruck driver averages 60 miles per hour while delivering freight to a customer. On the return trip,
the driver averages 50 miles per hour due to construction. The total driving time is|6.6 hours. How
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